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N & ot 11,743,841 12,346,871 A 603,030

ANETHE S5 (LS SHEY/NLHE - HEXH) 11,714,641 12,312,871 598,230

CHE A M= =& 11,714,641 12,312,871 A 598,230

METLEE M 225,741 216,759 8,982

201 Let24E] 11,600 13,600 A2,000

01 At 22l 11,600 13,600 A 2,000
OXNLNAED Sx=AlZ A& 2 2,000
OXNLNE 2 823 1,600
OXZAN 2T L& 2,000
oM+ DXM M= 1,000
O=832 S22l 5,000

202 (44l 27,000 31,150 A 4,150

01 S LHOYI 27,000 31,150 A4,150
OXNgA=ZU & &2 N& 27,000

303 L& 3 84,000 84,000 0

01 243 84,000 84,000 0
OXNLNER2E A2 A& 50,000
ONgHE+ A2 ANY 20,000
OXNLNHAED AT Al& 9,000
OMRU+eY 72 H A2 MY 5,000

306 93 79,141 83,009 A 3,868

01 &= 79,141 83,009 A 3,868
OXNLNARE &= 79,141

403 UtXSHHSA=0l& 24,000 0 24,000

02 S| 2 S0il CH &HCH & A I 24,000 0 24,000
OXNLNAS-LFEAAE SX2LB(2E2) 24,000

THY =243 XsS 2 100,000 113,333 A 13,333

303 Z& 3 100,000 113,333 A 13,333

01 Z&3 100,000 113,333 A 13,333
OZNMY =ZdsH 24 100,000

SEE NEAM FHHE 29 9,000 9,000 0

201 2et24d] 6,000 6,000 0

01 At 2teltl 6,000 6,000 0
OXLAHAL L I2HUAMAA ¢ 6,000

202 O4dl 3,000 3,000 0

01 = LH 4 Hi 3,000 3,000 0
OXZAM Ol2ald X =0l 3,000

dxun2Eas N 11,332,500 11,915,500 A 583,000
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DOEE A& B

DT EE = A AE0
P EEs (eI /ALY - WEIY)

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 11,332,500 11,915,500 A 583,000

02 8+uR= 11,332,500 11,915,500 A 583,000
OXLN w2 S 11,332,500

NSZEA =& 33,000 42,279 N9,279

202 o4dl 33,000 42,279 N9,279

01 = LH o4 1l 33,000 42,279 A9,279
OXZMN HIl - S8 MSEZA 19,000
OME, MAAH s M2 2R N 14,000

NeA HESA =& 8,000 8,000 0

201 ¢er24| 8,000 8,000 0

01 At 22l 8,000 8,000 0
Oz & JIEeEAH AMIEENY #HI M 8,000

NEA Mg2el =2 6,400 8,000 A 1,600

202 044l 6,400 8,000 A 1,600

01 = LH o4 1l 6,400 8,000 A1,600
OoMgd=+= XNk 6,400

HAE2A I (MEF ) (OIEH/IIE) 29,200 34,000 A 4,800

Jl23l 29,200 34,000 A 4,800

FA2Y JIE23H 29,200 34,000 A 4,800

201 -4l 14,000 20,000 A 6,000

01 At 22l 14,000 20,000 A 6,000
ORAN2Y A2l 14,000

202 04l 11,000 11,000 0

01 S LHOIYI 11,000 11,000 0
ORNE2Y =UWHAHHI 11,000

203 YR =&l 4,200 3,000 1,200

04 FN2ELRZ=TH| 4,200 3,000 1,200
©30¢2! 0l Gt 350,000& »12& 4,200
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